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- , (I)JWff3t?'lill ti~~;f; i(.~aJl r ?'l ~ ~ ~ Fli.~it (a)fJf.JA 

Fli.lit, (b)#'t1.FJi~it, (C) am~ raj ~ *- f (intrinsic)mt~it.(9 

%). (2)~ ill 3t~fI) ~aJl-1f.~ ~ iJt~at,~~ji1t-fJf.J~i 't ~ lX. 
~~.a~at~fJf.J Amt~it. (6 %) 

:::... ' -1OOJ;~ ~ jE~ifdOiJt-1f. ftf##~£ = 4£0, 
yHi(y,z)=a O.5e-}(8 +6z) Aim. (1)4tiJt~~ifi.(2)~ illx 

Ei(Y,Z). (3)4t&.:tiiJt~'tJi Er(y,z) &ZitJi H ,(y,z). 

(12%) 
-=- ' ~~ mr ?'l 'tJifll~1~. (10 %) 

(1).E =(2iiz + j3iiy )e
i /ex _ 

(2).E = (-jay -ax)e-jkz 
_ 

(3).E = azEosin(lUt- flx)-ayEOcos(mt- fJx) 

-
(4). E =iixEosin(mt + j3z) -iiyEOcos(mt - j3z) 

(5).E = «1- j)ax +(1+ j)ay)eJkz _ 

Tm ' -1f. ~ m~ raj 1-t-.fl ffJZitJi-Jtur 
H(x z i) = -a 5eJ(2*10 

9 
m+a6z-8ax) VI , , y m.-

4tm -tti a &!tllfll'tJi E. (10 %) 
:£ ' (1)!f m~&.:tiffJ~~ ~. (2)'t 7tJlis-1f. ~~l ftf 4'1t-.fl, 

~mJtA:ti ~ ea~ft't~ti£rflllUI~. (10%) 
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-l:. 1£ xy if liJ - A ir.t 1= 4(A) ,m.1£ -1m -=- ~ 1fj3@$,-WX~ 1i 
-~~ag1iit~.&~~=~8~~1£3@$~~~agh~h 

JE.. (~ -t lfi-1:ft~ em). (10 %) 
y 

(-15,-8) 

-,"-.-1m ~ldJ't~.:r..fFl£ 30 kV, l£~~##ag1:Ji.vA~;t!i& 
lliAft. 5i&ag 25%,,# f\] ••f-~~ fi~ 0.5 em, ~~## 
E rl = 3.2, JtiflAfl. 5i&~ 25*106 Vim, ~o E r2= 2.5, 
JtiflAft. 5ilt~ 20*10

6 Vim ,*- ttl ~~~##ag .::.100 f-~~ 
f p '& fo. (15 %) 

fL. -100 ~ ldJ 1:!.I.*L = 200 mm, f\] ~ft f-~~ ~ 3 mm,.::.100ft. Jf ag~r:lttfl't~.'&f-~~~jJ1J~ C1 3.4, f p = 5 mm, 
c2=2.8, f o= 7 mm,~~~ 1:~. (10 %) 
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